EA 2
=5 of a4y arga] a9
= | = = = aa =
INEE 187,080
INEE 187,080
olgz4el 187,080| B et 2| Z AL 350,0008 = 3% «12 ¥ 12,600
(UErALY)  LEER| 2 ALY 280,0009 = 28 A « 12 ¥ 94,080
(HFPXIALRY) SHEbAl 2HMH| A AL 240,0009 = 18 & « 12 ¥ 51,840
(B ALY) XA ALS| S RFALY 160,000 * 5 @ « 12 € 9,600
(HFRXALY) S$DSAZX|AAIY  160,0009 « 8 W » 12 & 15,360
(B{oUAIRY) B obAlErALY 150,00080 <2 12 & 3,600
Bxasel 15,600
2xg5¢ 15,600
J|EtR =2 15,600 (Al NSE SHNS 2 £x2 ) 1,300,0008 * 12 ¥ 15,600
Melz 5,000
Melg 5,000
HolMela 5,000)21748] 1,250,0008) * 487| 5,000
olgd=z 30,000
olg= 30,000
MAzolgg 30,0007 A =o| &= 30,000,0009 30,000
e 260
e 260
7| Efol| F0| K¢ 60|l 20l X} 60,0009 60
7| EFER =2 200]7| EHEF =21 200,000 200
237,940 237,940
mAM &
2= Of Ao AEZAH p=1c]:)
a2 | = = aa =
ApRH| 51,704
Q14| 31,119
=0 24,0007 24| 2,000,000 = 1 & « 12 2 24,000
H g 2,330| 47k Ab| 77,0009 » 7 2« 1 Y 539
AlZbl 22 4EF 150,0009 « 12 2 1,800
ENFUERAFREF 2,000l =l 2 R EHZ 2,000,0008 « 14 2,000
ALE| 28 R e 2,600|=21912  26,339,0008) * 0.045 1,188
ARHE B 26,339,000 * 0.0105 276
DEHEE  26,339,0008 * 0.009 237
A2z 26,339,000 * 0.0323 850
7|9 851,00094 * 0.0581 49
7| Eb3 A 24| 180| =l 29 2 Al 15,0008 + 1% « 12 & 180
e ] 1,600
7| zh2ody| 600| =AM 21|  600,0008 600
EEL] 1,000|RFE 9l 22l 2 3|9fH| 250,0008 * 4 3 1,000
2odu| 18,985
ofH| 1,000JAILH el WSH| ¥ EFH| 250,0008 * 4 3 1,000
TEH|I TR 7,683| A7 8 E 2 A=E FH| 4,300,0009 4,300
AALoIAH| 443,9432 443
HM2EMTQ  500,0008 500
HeT|@eEtz 20,0009 « 12 Y 240
25 $32 Y SWE 200,0008 200
ghA @ rodw| 200,0009 4 ™ 800
BI|HEHI|AER 40,0008 « 2 f » 12 & 960
HICHAIEE 20,0008 + 12 & 240
2323 5,902 721t MH| 20| 8 & 660,0009! 660
HsEHL 9 400,0009 400
AstEZe3 40,0008 « 12 @ 480
vez 20,0008 * 12 & 240
Ftechay| 11,0008 * 12 € 132)
HFE MR 40,0008 x 12 © 480
HLZ 150,000% 150
HMrlea 180,000 * 12 & 2,160
QU 50,0008 * 12 & 600
Maled 50,0008 * 12 & 600
HAMSo2 2,000|Z+E oHM 2Ha| &3 2,000,000 2,000
7| Et2 | 2,400 & &l m SH| 800,0008 * 1 & 800
FHA7IGU7EE 100,000 ~ 1 Y 100
= gloi U MEX| 48t 1,500,0008 1,500




Bl of Aty MzaA 29
= | = = = S =

NEE 7,000
Al AdH| 7,000

ApobE S| 3,000]AHAHE| SH| 3,000,0002 3,000

Al M B | F X[ | 4,000|Al M EFX|22[H] 4,000,000 4,000
AliH| 179,236
2 x| Al 179,236

Abs| Al R 2habeds| 3,000| 2§ 2 AEZ2O8 2dH| 3,000,000 & 3,000

x| 2HIR A AL H] 162,236) x| 28 E | 7,000,000 7,000

x| 2AF A 2 msH| 2,000,000 2,000

7| Ebx| 2 AFRIH| 3,300,000 3,300

(LEAIY) SEHAE|AAL ZAFR 12,600,0009 = 0.7 8,820

(LErALE) X BAF ZALR 94,080,0008 = 0.7 65,856

(LT &AL ) R ZAF ZALR 51,840,0008 = 0.7 36,288

(X AL2| FXLALYE) x| 2 AL ZAFE 9,600,0009 * 0.7 6,720

(STDSx|2AIY) x| 2AF ZALZ 15,360,000 « 0.7 10,752

x| 24|88 1,000,0002 * 12 & 1 12,000

x| 2AIEEE 2 E[ZF 2 6,500,000 6,500

AALEFFlH| 3,000,000 3,000

AMERALAH| 4,000j0| X} 2tz|H| 2,000,000 2,000

22| A S AHERX| 21H| 2,000,000 2,000

EHH| 10,000{21 =3 | =td| 500,000 500

2z2ielss 5,000,000¢ 5,000

QuzlolsH 2,500,000¢ 2,500

EYZE H=Ed| 2,000,000 2,000

237,940 237,940




